Dezimalzahlen multiplizieren (mit 10, 100 oder 1 000) [1]

Dezimalzahlen

Aufgabe 1 Aufgabe 2

1. 1,75 « 100 = 1. 423 « 10 =
2. 618 « 100 = 2. 575 « 100 =
3991 « 10 = 3. 838 e« 1000 =
4. 632 « 1000 = 4. 829 « 100 =
5 197 « 1000 = 5 737 « 10 =
6. 151 « 100 = 6. 437 o 10 =
7. 566 ¢« 10 = 7991 « 100 =
8. 715 « 1000 = 8. 527 « 10 =
9. 879 ¢ 10 = 9. 6,71 « 1000 =
10, 2,79 « 100 = 10. 850 « 100 =
Aufgabe 3 Aufgabe 4

1. 542 « 10 = . 261 « 10 =
2. 1,79 « 100 = 2. 455 « 10 =
3. 943 « 1000 = 3. 950 « 1000 =
4. 569 < 1000 = 4. 327 ¢ 10 =
5 6,73 « 100 = 5 3,46 « 100 =
6. 3,46 « 1000 = 6. 524 « 10 =
7. 6,78 e+ 1000 = 7919 « 100 =
8 271 « 10 = 8. 6,79 « 100 =
9. 966 « 100 = 9. 535 « 10 =
0. 690 « 100 = 0. 732 - 1000 =
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Dezimalzahlen multiplizieren (mit 10, 100 oder 1 000) [1] |
ANTWORTEN

Dezimalzahlen

Aufgabe 1 Aufgabe 2
1. 1,75 e 100 175 1. 4,23 e 10 42,3
2. 6,18 o 100 618 2. 575 o 100 575
3. 991 o 10 99.1 3. 838 o 1 000 8 380
4. 632 o 1 000 6 320 4. 829 o 100 829
5. 197 e 1 000 1970 5. 737 e 10 73,7
6. 1,51 e 100 151 6. 437 e 10 43,7
7. 566 o 10 56,6 7. 9,91 . 100 991
8. 7,15 e 1 000 7 150 8. 527 o 10 52,7
9. 879 o 10 87,9 9. 6,71 . 1 000 6 710
10. 2,79 e 100 279 10. 850 o 100 850
Aufgabe 3 Aufgabe 4
1. 542 - 10 54,2 1. 2,61 . 10 26,1
2. 1,79 o 100 179 2. 455 o 10 45,5
3. 943 e 1 000 9 430 3. 950 o 1 000 9 500
<. 569 1 000 5 690 4. 327 e 10 32,7
5. 673 100 673 5. 346 100 346
6. 346 o 1 000 3 460 6. 524 o 10 52,4
7. 6,78 o 1 000 6 780 7. 919 o 100 919
8. 2,71 . 10 27,1 8. 679 o 100 679
9. 966 o 100 966 9. 535 10 53,5
10. 690 - 100 690 10. 732 e 1000 7 320
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